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SVM/SVMT 20 VERTICAL MULTISTAGE CENTRIFUGAL PUMP TESK
Installation dimensions and weight
( Dimension (mm ) We\'ghtN
Model
B1 | B2 | B1+B2 | D1 | D2 (kg)
SVM(T)20-10 | 387 | 280 | e67 | 170 | 142 | 33
SVM(T)20-20 | 397 | 333 | 730 | 190 | 155 | 42
SVM(T)20-30 | 452 | 382 | 834 | 230 | 188 | 58
] %w SVM(T)20-40 | 517 | 435 | 952 | 260 | 208 | 74
4x¢914
; )| yw - Clamp SVM(T)20-50 | 562 | 435 | 997 | 260 | 208 | 76
47
SVM(T)20-60 | 607 | 435 | 1042 | 260 | 208 | 82
i‘m Thread | SVM(T)20-70 | 652 | 435 | 1087 | 260 | 208 | 84
SVM(T)20-80 | 697 | 580 | 1365 | 330 | 255 | 153
25 iR Oval
MI2x45
g Flange | SVM(T)20-100 | 875 | 580 | 1455 | 350 | 260 | 157
J;LQ* z
E ) - SVM(T)20-120 | 965 | 580 | 1545 | 350 | 260 | 170
[ ]
 —— | O ! -
3 iw 2[§ Flange | SYM(T)20-140 | 105 | 580 | 1635 | 350 | 260 | 172
JH= )P 3s
:
. Sywm | SvM(T)20-170 | 1180 | 610 | 1800 | 350 | 260 | 185 |
Performance data
( Power Q R
Model @imy | 10| 12 | 14 | 16 | 18 | 20 |22 24 | 26 | 28
KW Hp
SVM(T) 20-10 1.1 1.5 135 | 13 | 125 | 12 | 11 | 10 | o 8 7 6
SVM(T) 20-20 2.2 3 27 | 265 | 26 | 25 | 24 | 23 | 22 | 20 | 18 | 15
SVM(T) 20-30 40 | 55 40 |395| 39 | 38 | 37 | 35 | 33 | 30 | 27 | 24
SVM(T) 20-40 55 | 55 54 | 53 | 52 | 51 | 49 | 47 | aa | a1 | 37 | 33
SVM(T) 20-50 55 | 55 67 | 66 | 64 | 62 | 60 | 58 | 55 | 50 | 45 | 40
SVM(T) 20-60 75 10 (:) 81 | 79 | 77 | 75 | 73 | 70 | e6 | 61 | 55 | 49
SVM(T) 20-70 75 10 95 | 93 | 91 | 89 | 86 | 82 | 77 | 71 | &5 | s8
SVM(T) 20-80 11 15 109 | 107 | 105 | 102 | 99 | 94 | 89 | 82 | 75 | 67
SVM(T)20-100 | 11 15 136 | 134 | 131 | 128 | 124 | 118 | 111 | 103 | 95 | 85
SVM(T)20-120 | 15 20 164 | 162 | 158 | 154 | 149 | 142 | 133 | 124 | 114 | 102
SVM(T)20-140 | 15 20 192 | 189 | 185 | 180 | 174 | 166 | 156 | 145 | 133 | 119
SVM(T)20-170 | 185 | 25 234 | 230 | 225 | 219 | 212 | 202 | 190 | 177 | 162 | 145
- J

TESK VERTICAL MULTISTAGE CENTRIFUGAL PUMP SVM/SVMT 20
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